2009年資訊工程系碩士班入學考計算機概論考題
1、 單選題(每題2分)

1. Convert 11.62510 to its binary representation.  (A) 1011.101 (B) 1100.101  (C) 1011.1001 (D) 1100.11

2. Assume y = 2 and x = 1. Which of the following is true? 
          (A) x == 1 and y > 2 (B) x > 1 and y > 1 (C) x == 1 or y < 0 (D) x > 1 or y < 1
3. Suppose there is a 16-bit binary data: 1000 0011 1001 1000. What is the 2’s complement negative number it represents?  
(A) -920 (B) -31848 (C) -31849 (D) -31847

4. Suppose there is a 16-bit binary data: 1000 0010 1000 0000. What is the real number it represents in the following format?  
(A) -0.5*2-125 (C) -0.5*2-124 (C) -0.5*2-62 (D) -0.5*22
5. Consider the following Boolean expression: F = 
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. When (A=0, B=1) and (A=1,B=1), what will be the values of F respectively?  (A) 0/0  (B) 0/1 (C) 1/0 (D) 1/1  

6. When we use more bits to represent a floating-point number in computers, which of the following statements is incorrect?


 (A) Larger number can be represented.       (B) More precise number can be represented.


(C) Smaller number can be represented        (D) More truncation error can be represented.  .
7. What is the size for 2 minutes song sampled 8,000 times per second with the bit depth of 8? 
                (A) 96 x 104  Bytes (B) 16 x 103  Bytes (C) 128 x 103  Bytes (D) 768 x 104  Bytes 
8. If a computer uses 4-byte cells, how many memory cells are there in a memory of 1 GB?(A) 226 (B) 227 (C) 228 (D) 229
9. Which is not a disadvantage of a machine language?  

(A) It uses mnemonics. (B) It is difficult to create data. 

(C) It allows only numeric memory addresses (D) none of the above  

10. The cache hit rate is the rate of the information we need in the cache. If the average access time for main memory is 80 nsec and the average access time for cache memory is 10 nsec, what is the average access time if the cache hit rate is 80%?  
(A) 26  (B) 27 (C) 25 (D) 28 
11. Assume a disk with the following characteristics:  
Number of surfaces = 2   
Number of tracks per surface = 80 
Number of sectors per track = 20
Number of characters per sector = 1,024 
Arm movement time = 0.1 msec to move 1 track in any direction 
Rotation speed = 9,600  rev/min (rpm, revolutions per minute) 
 In the worst case, how much time is needed to read one sector?  
(A) 11.15  (B) 11.4625 (C) 11.5625 (D) 11.25
12. ____ is needed for a code of 1000 instructions to run at a machine of 1000 MIPS.   (A) 100 ns (B) 1 µs (C) 10 µs (D) 1 ms

13. A(n) ____ keeps a queue of programs ready to run and selects the one that will execute next.   

(A) scheduler (B) information manager (C) memory manager (D) compiler

14. Which program uses SMTP? (A) NotePad (B) Outlook Express (C) Photoshop (D) KKMan

15. Bluetooth is an example of a(n) ____.  

(A) wireless local access network (B) wireless wide-area access network (C) client-server network (D) wide area network  
2、 複選題(每題4分)
1.  Which cannot optimize disk performance? 
                       (A) cleaning a disk (B) task tuning (C) scanning a disk (D) partition a disk (E) defragmenting a disk 
2. Which is a preemptive operating system?  (A) Mac OS (B) Unix (C) DOS (D) Windows XP 
3.  Sort the following memory or storage devices according to their speed from the fastest to the slowest.

(A) Flash memory (B) cache (C) register (D) hard disk  (E) RAM 

4. Sort the following mobile network speed from the fastest to the slowest.  
(A) 3G  (B)  Wimax   (C) GPRS   (D) WAP  (E) 3.5G
5. Which of the followings are not the four major components of the Von Neumann architecture? 
(A) input unit, output unit, central processing unit, memory 
(B) memory, input/output, arithmetic logic unit, control unit 
(C) random access memory, data registers, cache memory, nonvolatile storage 
(D) central processing unit, arithmetic logic unit, control unit, input/output 

3、 問答題(每題10分)

1. (10 points) To write the output results after executing the following program.

main() {

int i[] = {1, 3, 5, 7, 9};

int *a[] = {i+1, i, i+3, i+4, i+2};

int **p = a;

printf("**p++ = %d\n", **p++);

printf("++**p = %d\n", ++**p);

printf("**p-- = %d\n", **p--);

printf("--**p = %d\n", --**p);

}

2. (10 points) To consider the following function Product and rewrite it as a recursive function.

int  Product (int n)  {

int  i, Product = 1;

for (i = 1; i <= n; i++) 
Product *= i ;

return Product;

}

3. (10 points) Write the output results after executing the following program.

int fun1 (int a, int b) {

a = a*a;

printf("a = %d, b = %d.\n", a, b);

return (a -4) * b;

}

int sub (int *a, int *b) {

*a += 1;

printf("a = %d, b = %d.\n", *a, *b);

return *a - *b;

}

void main(void) {

int x = 1, y = 2;

y = fun1(x, y);

printf("x = %d, y = %d.\n", x, y);

y = sub(&x, &x);

printf("x = %d, y = %d.\n", x, y);

}

4. (10 points) Write a program using Quick sort to sort n input numbers from large to small. 

5. (10 points) To write a program that can read a string and reverse it.
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